3.2.1

:50/500
09.2019

1

Skala
Nr rysunku
Data

gowej

Sprawdzajgcy
mgr inz. Rafat Miynarczyk

w

KUP/0117/PWOD/11
KUP/0114/POOD/14
. do'projekto_wanig _

uprawnienia budowlane numer
uprawnienia budowlane numer

bez og
bez og|

do proj

Pk. = 831,61; Rze = 98,35

802,97

181,68, Rze=99,44

11,97, B =015

Pik. = 791,00; Rze = 99,56
PLP = 779,43; KLP

R = 500,00

max; Pik

:

139,01; KLP = 798,11

Pk. = 748,%6; Rze = 98,86

PLP
R =1000,00

PLP = 63841; KLP = 629,48

Pik. = 648,94; Rze = 99,12
R = 700,00

PLP = 321,64, KLP = 338,97

Pk. = 40,01; Rze = 98,84

41940

Pik. = 462,79, Rze = 99,20

PLP = 446,19; KLP
R = 900,00

99,22

526,83 Rze

PLP = 315,92 KLP = 36329

R =1200,00

max. Pik

Pk. = 339,61, Rze = 99,9

Pk. = 275,85
Rze = 98,81

Pik. = 225,67; Rze = 98,66
PLP = 217,05, KLP = 23429
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